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' 4. In the course of development, children achieve gross motor skills before fine motor skills, This

indicates that developmentis . ¥ & ol I |
(1)  Linear (2) Proxifibdistal (3) Anarchic (4) Cephalocaudal
free 5, 1) g v e e e i e e e € 7 o o o
(1) T (2) wigiEE  (3) SO PO
|| 5.  Reasoning, thinking and pmblmn{;i\}ing are explained in which aspect of development ?
(1)  Moral Development "7 {2) Motor Development
(3) Sodial Development (4) Cognitive Development
fawm ¥ fom e 8 o, T i e aam F1 s #1 S &7
(1) S foem (2) e fawme
(3) wmaE fawm gy wT fa=ms

tting stuck in her leg while jumping Aru says that

6. After getting ‘out’ in the game due to.the rope ge
Jean Piaget’s theory of cogritive development

the rope deliberately got her out. ﬁt;what stage of
do children reason like this ? ;:j_j

(1) Sensory-motor stage &V (2) Pre-operation stage

(3) Concrete Operational stage fT\;-_e_ (4) Formal Operational stage
r@u"rﬁﬁwﬁtﬁ‘wrﬁﬂ%#mﬁgﬁm'ﬁﬁ%mmmﬁ%ﬁﬁﬁm%aﬂw'm'm
%\ i foars ¥ wamer o e 1 faa aae # @ §9 a8 % o od €7

| (1) Hagl I Tae ;' t,/m/,‘@_wm
(3) 7 HiwATE (4) g G

7.  Proximodistal principle states that in infancy :
{1) development of language occurs rapidly as it is a sensitive period for development.

(2)
(3) the limbs continue to grow faster than the hands and feet.

Physical development occurs rapidly with the development of fine motor skills.

(4) development proceeds fromshead to toe.
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Assertion (A) . Learners construct their own knowledge based on what they already know,

Reason (R) « r"h‘lm&" patterns and making lmkhﬂeq with previous knowledge helps learners g,
Process information meaning fdlly.

Choose the correct option - ™~

(1) (A) is true but (R) is false. *\ ;]

(2)  Both (A) and (R) are false. ¢ H}:;

(3)  Both (A) and (R) are true and (R) is the cargﬁtt explanation of (A).

(4) Both (A) and (R) are true but (R) is not thetorrect explanation of (A).

ST (A) : et < T R T ¥ I e e e P R

T (R): mwﬁﬁ@m%mqwﬂﬁﬁﬁlﬂfﬁﬁmﬁﬁmﬁmﬂ
Hafug F0 § veg fred &
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(1) (A) §&  3fF7 (R) Tom 2
(2)  (A) 3R (R) S oG £

A3) (Alﬁh(njﬁﬂﬁ%aﬂtmﬁmmﬁww%:

(4)  (A) 3R (R) T = ¥ A (A) 5T (R) nmagmwﬁm%l

Assertion (A) : Childhood is experienced dlffe;:ql];y by children across cultures.
Reason (R) :  Childrens’ development is uniﬁ%;gﬁl.

Choose the correct option : Ul

(1)  (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
T (A) - ﬁmww-mﬁﬁﬁﬁﬁw~wwﬁﬁmﬁmsm%|
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10.

11.

12

13.

velopment theory children move from
determine whether thé¥ are good or bad
and can be changed.

curs progressively in stages.

Assertion (A) ¢ In Lawrence Kohlberg's moral de
understanding consequences of acts O
to understanding that rules and laws are flexible

Reason (R) : Lawrence Kohlberg argues that moral development oc

Choose the correct option @
(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

afiasweT (A) : ﬁﬁnmﬁﬁ%#ﬁ%mm&rﬁaﬁwﬂﬁﬁqﬁm#mmmm@
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& fawey 94 ¢

(1) (A) &3 & afF (R) 7o €|

(2) (A) 3 (R) SF T €

] (A) 3R (R) 2 T E SR (R), (A) F TR S T E

(4) (A)aih{ma:ﬁm%aﬁﬂm},maﬁwwqﬂm%i

Which of the following statements about inclusive education is not correct ?
(1) An inclusive classroom “accommodates differences in language styles and promo tes

collaboration”.
An inclusive classroom centres around “fixed curricula and standard assessment”.

(3) Inclusive teaching means “teaching in ways that do not exclude”.
(4) Inclusive teaching means “adopting pedagogies that support needs of all learners”.

et B A e T e & R e
Mﬁmﬁwﬂw“mﬁﬁmaﬂmm%aﬂ?wﬁmaﬁmﬁ%'w
(2) "ﬁwwmww**#mawwmmﬁam%n
(3) Ferret Roneo 1 e & 4R whi | foem S wfespa TR
Tt forege 1 1 & '3 feene ST T e Y SrEvEEae i HEgA H

(4)
%n I

Lev Vygotsky proposes that
(1) Adaptation (2) Organization
Fa A yetEd w1 €
B ATEe (2) HweA (3) LA (4) frstt @
As per Jean Piaget’s theory of cognitive development, which of the following ability distinguishes
concrete operational thinking from Pre-operational thinking ?
(1) Hypothetical reasoning (2) Object permanence
(3) Coordination of senses (4) Decentering
3 frars 3 e faEE & fagi % e, frefefas § § FH-5 &HA1 A - HihATe T W

e e W @ e i ©

(2)

is important for self-regulation in children.
(3) Disequilibrium (4) Inner speech
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14.  Which of the

fU”D\\‘iJ'lg types of questions can help assess a student’s ability to evaluate information,

Critically ?
(1} Q‘Jﬂﬁﬁnns that ask for examples that validate the text
(2) estions that ask for a summary of a text

(3) Questions that ask for a simple definition of a term
(4) Questions that ask for the student’s personal opinion

ﬁ“ﬁﬁfwm%mwaﬁﬁmmﬁ-ﬁtmﬁwmaﬁmwam T3 4
HEE Fm 2
§ %ma’rmaﬁmmﬁﬁmﬁ%m{aﬁ%
(2) 3 w3 S et w1s 1wy o @
(3) émﬁmaﬁmqﬁw%m@a%
(4) 39 S B F =i 1o §
15.  Which of the following aptly defines relationship between cognition and emotion ?
(1)  Cognition influences emotions but reverse is not true,
(2) Emotions influence cognition but reverse is not true.

(3) Cognition and emotion are two independent systems,
(4) Emotion and cognition are interdependent on each other.

ﬁﬂfﬂf@ai‘fﬂﬁmmwmaﬁzﬂmﬁ%aﬁa%ﬁﬁﬂﬁwwﬂwﬁqﬁﬁm%?
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16. Language development in primary classes is facilitated
(1) When teachers ignore and dismiss the mother tongue of the children.
(2) When teachers begin from signs and symbols rather than concrete objects,

(3) When teachers use concrete examples to refer to abstract concepts.
(4) When teachers stress upon and enforce the use of formal language.
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17. According to attribution theory of motivation which of the following is more likely to result in
persistent effort and improved performance ?
(1)  Internal attribution for failure as well as success
(2)  External attribution for failure as well as success

(3)  An internal attribution for success and an external attribution for failure
(4) An external attribution for success and an internal attribution for failure

W#mm%mmﬁﬁﬁmﬂmaﬁﬁm#ﬁmwﬂﬁm%?
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18.

19.

20.

21.

22.

Inclusion of students belonging to disadvantaged groups demands :
(1) isolation in the classroom on the basis of social affiliation.

(2) same-ability grouping of students in the classroom.

(3) awareness and sensitization towards diverse traditions.

(4) evidencing and encouraging identity-based stereotypes.

fim el weifirm frenfefal 3 T 3 fere

(1) Gt SEEa & SR W FE H e e aned |

(2) THA A ¥ SR W faenfeld ) wE | fasfe e e
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(4) wesE-sTf Tfedl 1 yEivE i s fn s e

While participating in a sports competition in class, Tanuj tells his friend that he will participate in
the javelin throw and his sister can participate in jump rope because she is a girl and girls cannot
throw javelin. This depicts :

(1) Gender equity (2) Gender stereotyping

(3) Gender constancy (4) Gender equality
wﬁﬁamﬁmﬁﬁmﬁ%maﬂawarmﬂm%ﬁﬂwﬁﬁﬁﬂﬁmﬁmaﬂkmﬂ

Wﬂmwmﬁm%mﬁmaﬁ%mmmqﬁWMt %

1 wefefa e T _
(1) s gl ,{éf ey wfeartad
(3) ST HeH (4) St gEEd

Which of the following is a typical characteristic of Dyslexia ?
(1) Difficulty in physical coordination (2)  Difficulty in spatial awareness
(3) Difficulty in creative problem solving  (4)  Difficulty in phonological processing

ﬁﬂﬁlﬁaﬁﬁﬂmmﬁﬁwmﬁ-ﬁ%?

(1) wifes T § $feaE (2) Tt EE/ SRR | i
(3) AT S G § FieAn /(g) S WEET o HEAR
Problem solving is fostered by :
(1) Passive imitation (2) Response Set
(3) Divergent thinking (4) Functional fixedness
ﬁnhﬁaﬁﬂaﬂﬂmmmmuﬁaﬁm%m%?
(1) fAfsra sge (2) wffw &=

@y s e (4) wHES e

While divergent thinking convergent thinking

(1) Promotes mathematical abilities; promotes verbal abilities

(2) Promotes verbal abilities; promotes mathematical abilities

(3) encourages multiple answers; is fixed on one correct solution
(4) is fixed on one correct solution; encourages multiple answers
oar feaa wafs afumr 56 |
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23.

24.

25.

26.

Which of the following would not be characterised as formative assessment ?
(1) An assessment task that is helpful in comparing students as per a standard set of criteria,
(2)  An assessment used to identify misconceptions in a student’s learning.
(3) An assessment given at the lﬁeginntng of a new concept to determine students’ prior
knowledge.
(4)  An assessment given during the class to provide ongoing leedback to students and teachers,
R ol T e Tl w7
(1) W eaisa Frd S A & OF A Y00 F squn o 1 qer w0 8 geras o i
(2) U ST UF BT F W@ § e MRS 35 vgar w0t 3 for wan e s 2
(3) B F 7 1 H Fuifa % o 7 srmvpon # e # fea e s
4 S iR foert 1 st wfrafe om0 ¥ form e 3 S o T geaiE |
Which of the following is a characteristic of effective feedback in the classroom ?
(1) Itis only focused on the outcomes, —
(2)  Itis imely and specific.
(3) Itis given only at the end of the task.
(4) Itis broad and generic.
Frefafad 3 | 3wrh wfgfe = v s s 3
(1) =& S afomd] w Ffia 2t |
(2) =E amfaF 3R fafire e ¥
(3) @ Fad wE F Aa H @ & o 2
P 3R T B
As per Howard Gardner’s theory of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?
(1)  Musical : performance or composition skills
(2)  Spatial : skill of appreciating the natural world
(3)  Intrapersonal : skill in understanding and relating to others
(4) Logical-Mathematical : skill of dance or athletic abilities

A1 T 3 gt 3 i % SR, Frefatan § 8 w5 fe 4 i ses w6 AR
et 1 wiaffie S €2

(1) FITHg : WS9F o1 W61 F & e

(2) ¥ : Wi FTaTERT F TEA FH F FYE
By sfadafer : gE 1 T it Ik WY gy w0 e

(4) fF=-Tfordta - e o FrE-Ha amand

Which of the following correctly describes intrinsic motivation ?

(1) Motivation that comes from competition with others

(2) Motivation that comes from a fear of punishment

(3) Motivation that comes from external rewards
(4) Motivation that comes from personal enjoyment of the task

fFrfafad 4 4 % siafe st 598 907 w0 32
(1) Ao it 358 % W vhyeyi 9 et &
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27.  Which of the following is a key principle of progressive education !
(1) Learning should be hﬂ_ﬁj\l on authentic tasks

(2) Curriculum should
(3) Standardized testing is”
(4) Students should be p?

frefofas § | 95 W
A1) e s Fra

edetermined and universal
e best way to measure student learning
ve recipients of knowledge from their teachers

() weT=a o Fuifa viifires Bt wifie |
(3) Il HEA FEH TR GOE o w01 T @ |
@) o A el A 39w e e e ten

28. Impairment is a
operative, physical
(3) biclogical, functional

condition, while disability is a
(2) social, psychological

condition.

(4) functional, biological

Elified frafs € wafs semm o= foufa ®1
A1) s, TS (2) HmEIfSE, FAEISR
@) e, FEEH (4) T, Sfaw

29. Which of the following are__g&rrnples of scaffolding ?

(a) Think-aloud (b)
(d) Half-solved example ] (e)

1 (@ ®) () )

6 @ O g

g © | F W A S 22
(a) e L H = %2 (b)

(d) e T T g WE, (@)
A (@), ®) (9, @)
3 (@ ®
30. According to Kohlberg's theory

Prompts and cues (c) Questions
Rote Rehearsal
(2) (a), () (©) (d), (&)

4) @ (b))

Hepd AR T

T2 SRl

(2) (@) (), (©) (d), ()
4) (@) ®) ()

o) 8

of moral development, at what stage are children self-centered

and see their own benefit in doing something 7
(1) at the third stage in the second level

(2) at the fifth stage in the third level
(3) at the first stage in the first level
(4) at the second stage in the first level
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34.  The parcel sending rates are given below :
Parcel weighing (50 grams or less) : ¥ 15,00 parcel weighing (for every additional 50 grams) : T 7.00

Meena wants to send a parcel to her friend Chary in Delhl. The parcel weighs 350 g. Look at the
charges and select the correct cost of sending the parcel :

(1) T55 2) 57 (3) T4z (4) T50

LR R TR R

RIE WM (50 T st I9E W) ¢ 215,00 yrder w1 e (W st 50 W ¥ ) 2 7.00
| ST R S 0 e ST et 8, ) oot 8 & 1 e 9T 350 g § | 7 W ARt o de
ﬁﬂﬂﬂﬁ!ﬂﬂ?ﬁﬁm:

(1) X 55 /{,}) 257 (3) T42 (4) TS50

Which of the following is not true about ‘multiplicity of approaches” in teaching mathematics 7

(1)  Offering such a choice allows children to explore and use the approach that is most natural
and easy for them,

(2) Itis crucial for liberating school mathematics from the tyranny of the one correct answer.
(3) Very often, there are many ways of solving a problem,
(4) It hampers the learning of child as it leads to confusion.

wifor & o 7 *fafvm war & afwi’ F fou frefafes § @ 290 oo T8 32

(1) 9 0% % fased wege 1 & 9511 F1 39 I907 &1 -0 0 S 9 T 1 6 e
N I fon was wmwfas o amamE )

(2) I T O H1 U € W I E R Y G FO F o0 weeq ¥
(3) U EEd 91 A ¢ R U mEen # aweE w0 F FE aiF
B TE a9 & A # @y @ ¥ EifE 9w 99 F e w1

e
n

36. According to National Curriculum Framework, 2005, which of the following processes are least
relevant in a primary mathematics classroom 7

(1) Visualization (2) Making connections and representations
(3)  Memorising formulae (4) Use of patterns
ML Tl w0, 2005 F FFEN, T nafF nfa w4 Frefafan § @ w669 vt 59y #
®9 # yrfiE #7
X0 gefwm (2) Ay Tl S e
Y AR we (4) Fed (W) w1 3w w
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39, T:mimthmwndjelﬂﬁmmdgmuu[u{mmmtu_
5366 1,453,232
Which of the following numbers she got the maximum number of times 7
(mn 1 2 5 3 6 4) 3
w1 3 U 719 10 910 S@wn s 38 efafas ofom oa 79
5366 1.45,3,32
Erfefas dens § 4 A s m S A e wa 27
m 1 @ 5 3) 6 A5 3
40. Which of the following is true for word problems in school mathematics 7
(1) Word problems are important in secondary classes only.
(2) Word problems focus more on procedural knowledge in mathematics.
(3) Word problems refer to exercises where the child formalises the situation into a form where
ammmmmemhawiﬁi
(4) Word ;{mblerm are not examples of mathematical modelling.
frfafan 9 8 F3-1 el e § tand 5o & fag ad 22
(1) FANE Fam Fa0 ArAaE T | gy e £
(2) TETE SarE e | FEfates 99 W AeE $Ea A 2
(3 ﬁﬂﬁﬂ?ﬁﬂ?mﬁ!mmﬁamﬁaﬂﬂﬂﬁfmﬁmﬁﬂmmmtw
T T =1 an) fF S wEE
(4) TAWE FaAwE oEE R F 22 @ ah |
41. Wchmhﬁaﬂe&hﬂmﬁmmdﬂﬁ&%md%WuﬂzﬁEﬁé?

(1) 2536 (2) 2563 (3) 2356 (4) 2365
Mmmﬁ#fmm,mdnm%ﬁmﬁﬂwmﬁm?
(1) 2536 _2) 2563 (3) 2356 (4) 2365
42. One millimetre is the same as :
(1) 001 m (2) 01m (3) 0.01 am (4) 01 cm
w= foeidz 7uat 2
(1) 001 m (2 01m _2f 00l cm . @) 0lam
43 Afmgjum-psﬂsﬁepsandarabbitium]n?stepsataﬁmmEfmmaplaceD. At which of the
following steps, they both will be jumping together ?
(1) 378 (2) 354 (3) 343 4) 371
Mmoﬂmmﬁﬂﬁammwm?mﬂmmﬁt:ﬁﬂﬁﬁﬁam
o7 3 21 v T g i 7
(1) 378 2] 354 (3) 2343 (4) 371
Viaa SPACE FOR ROUGH WORK / 7% &1d & fom wme
Aﬁﬂ‘:
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44, Which of the fol

(1)  Abacus (2) Place value chart

(3)  Dienes blocks (4)  Money

YRR 8 %% 1 st v S 4 e SRS PR pe—
TR fSfem w01 % for e = 39 7

(1) fram (2) = e

() = = A4 T

#9: How many packets of L kg salt.can be made from 7 kg of salt?
(1) 72 2 90 (3) 45 (4) 60
:'% kg T9%F 1—12- kg THF F foa e 7T w1 ey &

1) 72 (2) 90 @) 45 47 60
46. A student of class III solved 26 % 5 as 2

X

5
1030
Revisiting which of the following will best remediate this misconception ?
(1) Recalling multiplication tables
(2) One to one correspondence
(3)  Multiplication of one digit by one digit
(4) Concept of regrouping

mur%wﬁaﬁﬁzsxsﬁrmmﬁﬁm 2

.
o

|

f—
=
2
=

ﬁqﬁf@aﬁ#wmmﬂﬁ:aﬁgwfﬁmmawﬁm?
AT wETE 1 Aem |

Yepardl "T“‘ing model is least appropriate to develop the conceptual underslanding
garding the relaltonships of ones, tens and hundreds in early grade learners 7

() wEE
(3) WF FF 1 UF 7% 9 n
(4) YTHYEEHT FT syaymon
SPACE FOR ROUGH WORK / T #Td % fer wre
M e
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- Wwhich of the following statement is least appropriate for encouraging mathematical learning ?
(1) Mathematics leaming is not gender specific
(2) Discourage intuition as it hampers the development of mathematical {deas.

& Failure does not imply that students cannot do mathematics.

(4) Everyone can leamn mathematics.

freferfin ¥ | Ha-w W nfoedta s ) drefer e ¥ fo T wn I 7
(1) e ey Ster-fafre @ dm ¥
A st ) T O e Fi Ty ot ferar @) frfi F0) § ann s ¥
(3)  SEESH H1 N qw T8 W i et i w6 wEw
(4) it e o w6 )

54. A number becomes double if it is increased by 8. What is the number 7
(1) 12 (2) 16 (3) 6 (4) 8
o Heql H e S fean sy, A v g & o ¥ ae wem =20 ?

@ 12 N 16 3) 6 M 8

55. Which one of the following costs least ?
(1) 7.5 dozen items of ¥ 750 each item
(2) 75 dozen items of ¥ 7.50 each item
(3) 75 packets of X 750 each
(4) 750 packets of ¥ 7.50 each

et | & fEasl e gal F9 82
(1) T 750 Yol =g et 7.5 % Tl
(2) % 7.50 W I8 Tl 75 T T
(3) T 750 ¥F Y¥e A 75 e
&) 750 vei Ye I 750 T

SPACE FOR ROUGH WORK / T% & & o sme
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56. Which of the fc;]]nwing should be the characteristics of mathematical language at primary leyvg|
(@) 1 should e precise,
®) It musy be ambiguous as it can add openness in the subject.
(© It should be reinforced through child’s language used in everyday life,
(d) It musy be highly technical as it will help students to communicate accurately in mathematicg
Choose the correct option :
(1) () and (o) (2 (a). (c) and (d) (3) (a) and (d) (4)  (a), (b) and (c)
ﬁﬂ?ﬂ?«ﬁﬁﬁﬁaﬁtﬂﬂﬁﬁ?%ﬁﬁﬁﬂﬂi#ﬁmﬁﬂ?
(@) =% W% o feu |
(b) T ST BE SifeT W 7F A d e ey,
() ﬁaﬂ?ﬁwﬁaﬂﬁmaﬂmﬁmﬁrw%mﬁgﬁmﬁmmm&m
(d) %Wmﬁﬁaﬁqﬁﬁmﬁmﬁﬁaﬁnﬁaﬁmmmﬁmm:
W @ 3k (g X @QORGD @) @t @ @) 0o

57.  Which aspect of evaluation is used when a teacher €nsures that test made by her fulfils the objectives
and criteria of that test ?

(1)  Reliability (2) Consistency  (3) Validity (4)  Practicality
ﬁﬁffﬁm%ﬁﬁﬁmm%ﬁ?mmmwﬁammtmwmaﬁwm%m
Wﬂ%&ﬂwmmﬁmw%?

(1) favagraa (2) HHfa \/ﬁ( Fyay (4) =AEETE
58. See the number pattern given below -

], 8, 2?.- 64‘r IzSP ———— , ——_
What will be the next two terms ?

(1) 256 and 343 (2) 216 and 343

(3) 256 and 289 (4) 216 and 289
., 27, 64, 125,

SR 3 42 1 8 2

(1) 256 3T 343 (2) 216 &R 343

(3) 256 4t 280 @ 216 3k 280
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67. An EVS teacher taught about animals to her students and ask them to do the following task -

(@) Write names of various animals around them

(b)  Observe activities of different animals :

(€)  Classify animals into categories based on obseryatipns
(d) Define the term ‘Animal’ oy

Which of the above is NOT appropriate for studenl;glgf 4rtmary level as per the nature of EVS g

primary level ? \
(1)  Only (c) (2) Only (d) (3) (a)and (c) (4)  (b) and (c)

0 e ffie 3 e @ ) S 3 A A v 4 Frefefan w0 w0 ¥ forg

(a) m-wE ¥ fafes sEd & m fafag) . ‘~--*'a"

(b) fafv= wadl =1 nfofafidt = seama w0

(c) HATIHA F YR T A7 F1 Ao F it w41 -

(d) wET = gftafag #:3)

INF § | FH W weEE = F ol F o avgE w6

) ¥ () (2) F (d) () @I  _d ®A(©E

68. Read the following statements carefully and choose the correct options :

Statement (A) : Xylem transports water and minerals from roots to rest of the plant.

Statement (B) : Phloem translocates food from leaves to various parts of the plant.

(1) (A) is true, but (B) is false (2)  (A) is false, but (B) is true

(3) Both (A) and (B) are true (4) Both (A)yand (B) are false

few T el 1 eAEYEE v ud 9 A = )

FAT (A) : SEH e A AT T A A A e 7 v

FI (B) : TR 9IS F Ao F 09 s i § et 5w

(1) (A) 51 & 3 (B) 7w (2) (a}n@?"ﬁ%{ﬁmﬁ%u
37 =i (A) st (B) HE # (4) aﬁ‘f{ﬁ};;a?jm)ﬂﬁaﬁ%‘l

69. Nina, an EVS teacher of class 5 gives a group assign?ﬁgﬂ_illt to her students that they have to visit
nearby agricultural farms and find out information about the implements used by farmers during
agriculture and the type of crops they grow. They also have to collect photographs and prepare a

report. What process skills and learning indicators are involved here 7
(1)  Hypothesising, inferring, expression

(2)  Prediction, experimentation, observing

(3)  Questioning, Expression, Inferring

(4)  Questioning, Experimentation, sensitivity towards environment

FH1 5 %1 T faferer 1 3193 o F ww T HAHETHE T & o 3% o F 5w w5 S o d
B % A RS g v fhw S A v sl S g S A s 3 i
AAF TG F ) I FE ﬁWﬁWMWEJ 7 HH Y i Fve sl @ §

Hahaw wige §? =,
(1) wfewe, 9foms framem, sfis O
(2) =R, WA, A =~
(3) WA FN, A o, o e

XTI, 22 Ul

__-h—




=0. Which of the following sets depicts the themes of EVS at primary level ?
(1) Family and Friends, Travel, Natural resources
(2) Shelter, Travel, Things we make and do
(3) Weather, Water, Travel
(4) Food, Material, Shelter

Fresfeafian & R 317 1 W wrefess w0 w0 defrm ¥ ofvil ) 2o €2
){nﬁﬂﬁaﬂ!ha. T, WHfa® Hane

(2) SEE, T, N W ek wa 2

(3) drEm, 9, 9

(4) ==, =d, SEm

71. Doctors prescribe blood test for patients to confirm malaria. Blood test is done to :
(1) check for eggs of female anopheles mosquitoes in blood
{(2) check for microbes in blood
(3) check for haemoglobin in blood
(4) check iron in blood
T T T R wER S g R e s s R Rl @R e A
(1) 359 9@ =1 F g & ufeafd &1 gar 3o |
@ =54 Iuftem SampE #5199 Fam)
(3) 59 Iufga FHTEE 1 9 e |
(4) SHH IE TE qo H A H G AN

72 Textbooks of EVS should reflect the recommendation of NCF 2005 of linking students’ life at school
to their life outside. This implies :
(1) Textbooks supports students to construct knowledge through all the given activities.
(2) Teachers need to use textbooks as one of the teaching learning resource.
(3) Students are compelled to memorise few important concepts of EVS.
(4) Textbook is the only source of knowledge.
EHium W ) faEne T S Fl I Al F A | A G, 2005 F

F1 yafdfan Fo Ffeq) 6w A4 7 :
Wﬁuﬁﬂfaﬂmm%mﬂm%m%mﬂﬁmmﬁmmﬁn

(2) ﬁmﬁaﬂwwﬁaﬁﬁm—aﬁmﬁnmﬁfﬁwmtmﬁmmﬁaﬁmm%
(3) Foreefl EVS ¥ WewEyyl stavmons 1 A F & A ¥
(4) ETTEE A % CHAT 6 €

T * S




¢ Lake is NOT true ?

ments regarding Ghadsisa

73, Which one of the following state 76.

(1) It was connected with nine lakes.
(2) Ttisin use tll today.
(3) King Ghadsi of Jaisalmer got it made.
(4) It was built around 650 years ago- \
) 5 o I A |
e & e e el & @ -9 T FE w0 € aé I T
(1) =& e 3 e g 90
{27 TE e s it wEm H
(3)  SIEEET T wEEt A g oA 9
(4) TE T 650 TS TEel =01 TE o

Seema, an EVS teacher organised a field trip to zoo for her students. Which of the following 5,

the most appropriate objectives of the trip to the zoo ?

(@) Recall names of animals in the zoo

(b)  To relate concepts related to animals

() To promote process skills i 8
(d) Assessment of students’ learning at the zoo

(1) f(a),(c)and (d) (2) (a)and (b) (3) (a), (®and () (4) (b), (c) and (d)

e, u ey ot 3 o oni % fou fafeamr o 4 s (Wi fry) @ smine e
fFrefefen 4 & 2 fafeam #1 951 % 5o 39 35w ¥ 2

(a) Tofear & et & 9 72 36

(b) A | HafT Saymons # S

(c) WiHET FIUS =l Fe@

(d) Tafearr 4 36 & diad 51 o=y L

B @ORO O BWe O @ eRE © e

75. Ravi took some water in a glass. He puts a lemon in it. Then, he keeps adding a lot of salt into the

74.

1) le its i
(1) mon splits in water. (2)  Lemon remains mid-way in glass of water

a3 firems & st foran | v vy
e e R . e

(1) g 5 F < 4w & 22
(3) g w@ F g7 W) .
o
P-| )
(T o ( P

(3) Lemon sinks in water. (4)



6. A chaptir in EVE betbook of NCERT describes Wahida Prisen and her experience in the Navy as

a doctor. What ane the reasons for including this chapter ?

(a)  Her exporience challenges gonder stereaty pes

(b)  Her story gives a peep into the life of & medical officer in e armed forces
(€)  Understanding that prism reflects 7 colours

() Understanding the ditficulties. (aced by ber arud hat ways of tackling them
(1) () end (d) (2} (b), (d) and (a)

(% (ak (b) and () (4) (b, (c) and (d)

et ST A, W £ o T T v s i v f sh i # ohe
sEpv W Wi ) et e i e won 47

(a) w0 P A el sl R

(b)  Fw wwrR e Wil J o (el s & e @) oow g 2 8
(c) —wmwwAl fE fawm 7 0 w5 e 4

(d)  FEF T S el wiame s wE froed w0 e |

(1) fc) 3 (d) (b, (d) 3 (a)
(%) (a), (b) 3T (c) (4) (b}, (c) 3 (d)

. Which of the following strategies promotes inquiry whilie teaching the theme ‘Food’ 7

(1) Asking students to find out food preferences of their family members.
(2)  Showing pictures of various preserved food items used in different regions of India.
(3 Asking students to collect plctures of various food items.
(4) Demonstrating fireless cooking of sandwiches, shilanji (lemon water) etc.
ferefenfinm o B i ol Torftfy * sirer’ iy Y e w qeTe W) agEn A R
gl § i fiEn & FEed ®1 W ) THT W A e e
(@) i i fafsrt i § avm fa ar A fafie v wm vl & S o)
@) ot fafe= g g & fr oo w0 we .
(4) Hefra, forh (S e wltog W fan ot 3 R 1w

. Consider the following statements (A) and (B).

Statement (A) : Ao is a common variety of rice used in Assam,

Statement (B) - Paddy grows well in clayey soil and requires a lot of water.
Select the correet code from the following,

(1)  (A) is correct but (B} is wrong (2} (A) is wrong but (B) is correct

(3} (A) and (B) both are correct (4) (A) and (B) both are wrong

4 iy g w! (A) o (B) T Faram R

WA (A) sy s # ST ) A AR A O e T

A () : e ) it feeh firg) syt @l & ol vR e W A A F e i

frfesfoa 4 2 vt e Hf
(1) (A)wf & 7o (B) o B (2) (A)TEm ¥ 9 (B) W R

(3 (A) st (v) Zrl e (4)  (A) st (B) = e &
Wi 25




f We Do’ helps his styg
e dges are glued t Ny, L
trips to make a mat. The edges '*"EEth,,h
ot Pi:-jectjves should Alex help his students focus)
esthetic seNse.

; : he
79, Alex, an EVS teacher of class 3 while introducing the th

cut fﬂ]l_‘lu!‘[‘ul v_l;‘,lnp:; of paper ﬂﬂd weave th :
make a beautiful mat. Which of the following o

(a) learning about colours, patterns and developing an @

(b) relating the activity to weaving done by weavers.

() memorising the steps of making mat. iy o o semtacie
(d) choosing pegapors of attractive colours and learning cutting of strips p

(1) (@), (c) and (d) (2) (a) and (¢)

3 a), (b) and (d) (4) (b). (0) and (d) 3 8
;im[%gé:?amgﬁiwmﬁ*mﬁﬁmﬁ%' zﬂﬂﬁwmﬁﬁmmﬁmﬁ

i ez 91 e e T e A T g e A T A v
M?.%@?ammamﬁmwﬁ T FHTE HE H TR F Ay
() T, ¥ & =i H e o Hed A e $

(b) T nfafafy S G g S SR ATl I | Hafe -

(c) T F ar &t fary & =X Hi AE w1

(d) e i YR g SR e 0 A § e e

M) @0 @ @O
B7 (@), (b) 3R (d) (@) (), (o) M (d)
80. Which one of the following statements regarding Al-Biruni is NOT true ? Choose the come
answer.

(1) He did not write anything about ponds in India.

(2) He has praised the making of ponds in India.

(3) The place that Al-Biruni came from is now called Uzbekistan.
(4) More than a thousand years ago, he came to India.

sre-faedt & an § Fefafes w2 4 9 FH-51 0% F97 9 760 €72 "o I 9
(1) 384 497G % 39 §HA 5 eEl & 9% 8 9 9 76 forar ¢
2] 3E A O A A H A w5
(3)  He-fae ' A a1 4 39 AoEe SRS Fed B
(4) FRH o € U Ted 5% 9WE 37 9|
81. Which one of the fﬂl]ﬂwing regardigg Johad is correct ? Choose the co

(1) It pumps groundwater into nearby wells.
(2) Stores water from rivers,

(3) Itis a community based rain water harvesting system.
(4) It filters impurities from water.

sites @ wrv, Frefafes § 4 fim-m o s w20 T I |

(1) wmtwﬁmmwmmm
(2) @ Al B I HE g

(3) 'ﬂ'ﬂ"ﬂ'ﬂ?-'l'? mmﬂq‘immmtl
& 7% 9 B A ) forery sy 3

Pl (NN 26 l}i"

rrect option. 84
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What is the mass T
of an object witl 4 density of 12 g/ ml and a volume of 3 ml ?

1) 36
(1) B (2) 4gp (3) 15 g 4) 24

Read the given statements carefully :mrd choose the correct option.
Assertion (A
on (A) : We can cook food easily at sea level as compared to higher altitudes.
Reason (R) : At high altitudes, boiling point of water increases.
(1) (A) is true but (R) is false.
(2)  (A) is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

e T et ST 8 of W fae 4
HUFa (A) : @mmﬁ#wﬁwﬁawmﬂmmmﬁu
T (R) : aﬁﬁmmmﬁrmaﬁmwwﬁl

N

(1) (A) " H € &fF (R) 799 | (

7
(2) (A) ¥ ¥ ot (R) T g L

.

13y 3 (A) 3R (R) 59 € 37 (R), (A}wns"rwwﬂmm%l
(4) @M (A) T (R) §F € @fe (R), (A) F1 96 SRt =27 2

It has been observed by bird watchers that there is a peculiar species of birds. The male bird make

their own nests and the female bird looks at all the nests and selects the one she likes the best and
decides in which nest to lay her eggs. The name of the bird is :
(1) Indian Robin  (2) Sunbird (3) Tailor bird (4) Weaver bird
wfegaf = awﬁa@%wﬂwﬁ%ﬁﬁwﬁwﬁmmﬁﬂmﬂ ST~ 379 BrEe AT
4 wq@ﬁmwwaﬁmm"wﬁﬂaﬁﬁm T T § S 9 aw o 3 & favem
FE T T vE FAWE

My Fafag HIEE T !%Tﬁ_ (3) sfst fafem (4) e wa

”” 27 K



or theme in EVS and “Plants and "inin‘ e

83. Assertion The theme ' Family anld IFrienl.f.'i; ?;:r::f}l and Friends’.
are presented as a subtheme o rms of life is ki
Reason - Thelinmrdt‘hendence of human beings and other {E‘" ghh%.:
through themes. L)
(1) Assertion is true but the reason is false. e LY
(2)  The statement of the assertion is false but the reason is . ,
. - i ‘correct expl
(3)  Both the assertion and reason are correct and the Reason is tE<e prTion of g
Assertion Ree .
. : t | i
(4)  The assertion and the reason are correct but the Reason is not lhe correct explanation ﬂh.
Assertion. { E &' ufEm
Wﬁm:m'ﬂﬁwmﬁi'mﬁﬁmwgmlmﬂmr‘m i M oy

39-4m F w9 § waga 5 am g s
WOT: iR % R A ST e & o W) 1 H=Agr A 91 WHR] ST 741 7
(1) sifiea wé & sifda Fr Tem #
(2) SRR e § g O el ¥
AT e S R S wE E i FRon sifveree 5 wE =ne € .
(4) s i Fm w6 ¥ A R, s 1 ge e T O !
|
86.  Students conduct a survey in their homes and neighbourhood to find out the number of Membey
and approximate amount of water used in each family. What skills and processes are developy
through this activity ? L(“} 89.
(1) hypothesising, inferring, expression l..(-}
(2)  prediction, experimentation, observing ‘
(3) questioning, experimentation, sensitivity towards EI‘LViI‘ﬂnﬂ'lEI"IEN
(4)  questioning, inferring, expression IL'“"L—‘ ;
W% SER A 9o #1 @ 3 g SRR HTA 1 WY T S S e o A AT
A T A E (79 it e § 2 3 e i st Mty 51w
(1) e, S fae, sfvera I~
(2) SIHH, WM, HATEHA |
R A, T H, TG0 F wfq gdEeiem 90.
(4) YoAw, it fEem, sfiste

B7. The territorial states of Haryana are :
(1) Himachal Pradesh, Punjab, Bihar
(2)  Bihar, Punjab, Uttar Pradesh
(3) Himachal Pradesh, Rajasthan, Uttar Pradesh
(4) Uttar Pradesh, Uttarakhand, Madhya Pradesh
efemn & dimrad 7 §

3
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Consider the following statements about beehives

(a) Honey bees live in beehives, Every beehive has one queen Bee that lays eggs.
(b) There are only a few males bees in the hive which have special roles as workers.

() Mostof the female bees in the hive day in making the hive
and also looking after the baby hug:_m worker bees who work all the day g

(d) The worker bees fly around Litchi flowers in search of nectar for honey.
The correct statements are :

(1) (a) :md (€) (2) (a) and (d) (3) (a) and (b) (4) () and (d)

wymfEEdl F T % AN Ay T wei o i

(a) TG YRR F B A T ¥ SR o el o &S o 2 &

b) BHH TS T A o R € S 29 ¥ fow gt F e | v e w@ € -

(c) aﬁﬁ;ﬁﬁﬁwwwﬁﬁﬁﬂfwﬂmﬁﬂﬁﬁﬁﬁqmﬁﬂmﬁnﬁﬁﬁmwmw
FAAE

(d) AT wEEl Yee % o v # @ ¥ o ot & wel 3 9 A9 FeERt S € -

(1) (a) 3 () 2) (a) 3R () @ @3Mp) W @@

An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens
clothes during winter”. This question is a :

(1) hypothetical question (2) factual question

(3) convergent question (4) analytical question

RERC I RRIEED 7 Tl @ G sl e 23 ¥ forg e & ' en i A oA el |
T ARG FE T | AR H T T

(1) HeafTE we 2y A

(3) SIvER W (4) faveromes w9

Read the following Statement (A) and Statement (B) below and choose the correct option :

(A) : About 4700 years ago, some of the earliest cities flourished on the banks of river Indus and its

tributaries.
(B) : About 1500 years ago, cities developed on the banks of the Ganga and its tributaries.
(1)  (A) is true but (B) is false. (2) (A) is false but (B) is true.

(3) Both (A) and (B) are true. (4) Both (A) and (B) are not true.
ﬁmfaﬁaﬁmmq(mammm{mﬂrmﬁw%ﬁmﬁﬁﬁmﬂwwﬁl
{AJ:Wwﬂﬂaﬁtﬁﬁgﬂmsﬂaﬂﬂmﬂéﬁmwaﬁwwﬁ—ﬁn
(B) : wﬁnamﬁm#ﬁﬂ%ﬁaﬁmﬁmﬁﬂmmmmaﬁﬁ@m

(1) (A)G# ¥ faeg (B) T € (2) (A) T € R (B) WE €

T i (A) T (B) I E (4) 2 (A) T (B) T T
29
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PART - IV ..
LANGUAGE - | : ENGLISH
_______‘\f

: . No. 91-120), if the
IMPORTANT : Candidates should attempt questions from Part-IV (Q Y hany
opted for ENGLISH as LANGUAGE-I only. —

: . (91-99
Read the Passage given below and answer the questions that follow ( )

rould look : she sm;
Yet as soon as she saw him, she did not look as Alfred thought she w

R them forget that her i
blue eyes never wavered, and with a calmness and dignity that ﬂr:;dECarr g iaid Pﬂlitei; w9
seemed to have been thrown on her, she put out her hand to . » Iy

Mrs. Higgins. I'm Alfred’s mother.” ‘ :
Mr. Carr was a bit embarrassed by her lack of terror and her simplicity and he hardly kney, whe

to say to her, so she asked, “Is Alfred in trouble ?”

“Heis. He's been taking things from the store. I caught him _md-hﬂJ}dEﬂi Little things like COMpay
and toothpaste and lipsticks. Stuff he can sell easily,” the proprietor said.

Mrs. Higgins put out her hand and touched Sam Carr’s arm with an understanding gmﬂ%_
and speaking as though afraid of disturbing him, she said, “If you would only listen to me before doiy 92
anything”. Her simple earnestness made her shy; her humility made her fallter‘ am{ look away, h?ﬂim
moment she was smiling gravely again and she said with a kind of patient dignity, “What do you infey
to do, Mr. Carr ?”

“I am going to geta cop. That's what I ought to do.”

“Yes, I suppose so. It's not for me to say, because he’s my son. Yet I sometimes think a lilﬂegm{ 96
advice is the best thing for a boy when he is at a certain period in his life,” she said.

Alfred couldn’t understand his mother’s quiet composure, for if they had been at home and somem
had suggested that he was going to be arrested, he knew she would be In a rage and would cry o8,
against him.
91. Study the following statements :

(@)  When she entered the drug store, Mrs, Higgins was not Properly dressed.

(b)  She looked like the mother of a guilty person, B

(€)  Mr. Carr did not expect her to be calm and dignified,

(1) (a) and (c) are right but (b) is wrong.

(2) (a) and (b) are wrong but (c) is right,

(3) (a) and (b) are right but (c) is wrong. ."'93,
(4) (b) and (c) are right but (a) is wrong, l—;"
i i
92. ... made them forget that her clothes seeme d.” ?;l‘:'l
II

The underlined word js 4 /an

(1)  Preposition (2) Conjunction (3)  Noun 4 P |
ronoun n

R TTITITT 30 !
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At Mr, ; . :
(1) r, Carr's accusation, Alfred’s mother felt intimidated.
(2) Yet she was very gentle in responding to him

(3) Alfred was a petty thief.

(4) He stole cream, compact and lipstick from the store

Which of the following statements is not correct ?

(1) When she introduced herself, Mr. Carr felt stupefied
(2) He felt that he would have to forgive Alfred.

(3) At home, Mrs. Higgins would have been enraged.

(4) QOutside, her conduct was like that of a caring mother.

‘... he hardly knew whattosay toher.

The underlined is a/an clause.

(1) Adjective (2) Adverb (3) Principal (4) Noun

Study the following statements :

(a) Mr. Carr intended to get Alfred arrested.

(b) Mirs. Higgins wanted him to be given a chance to reform himself.

(1) Both (a) and (b) are right. (2) Both (a) and (b) are wrong.
(3) (a) is right and (b) is wrong. (4) (b) is right and (a) is wrong,

‘... her blue eyes never wavered'.

Choose the word nearest in meaning o the underlined one.

(1) waved (2) snickered (3) advanced (4) hesitated
Having looked at his mother, Alfred was
(3) shocked (4) scared

(1) pleased (2) surprised

... her humility made her falter....

g to the underlined one.

Choose the word nppusite in meanin
(3) pride (4) frankness

(1) intrigue (2) hitch

3
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. (100-105)
Read the extract given below and answer the questions that follow (

All the world is a stage,
And all the men and women merely players;
They have their exits and their entrances;
And one man in his time plays many parts,
His acts being seven ages. At first the infant,
Mewling and puking in the nurse’s arms;
Then the whining school-boy, with his satchel
And shining moming face, creeping like snail
Unwilling to school. And then the lover,
Sighing like a furnace, with a woeful ballad
Made to his mistress’ eyebrow. Then a soldier,
Full of strange oaths, and bearded like a pard,
Jealous in honour, sudden and quick in quarrel,
Seeking the bubble-reputation
Even in the cannon’s mouth.

100. Identify the figure of speech used in the first line.

(1)  Personification (2) Hyperbole (3) Simile (4) Metaphor
101. “..... their exits and entrances.....’

The figure of speech used here is :

(1) Personification (2) Hyperbole (3) Simile (4) Metaphor

102. Why is the lover’s sign compared to a furnace ?
(1) He offers warmth to his beloved. (2) He is writing a ballad,

(3) He gets angry very soon. (4) He feels emotionally charged.
103. A soldier is jealous about his honour as -
(1) he is ferocious like a leopard. (2)  he wants to win at any cost.
(3) he is jealous of his enemy. (4) heis Very sensitive about his honour.

104. What do all men and women do 7

(1)  play outdoor games like football, cricket, etc.

(2) fight wars

(3)  perform various roles in life

(4)  indulge in indoor games Jike chess, cards, etc, :

105. A school-boy :
(1) likes his teachers,
(3) s reluctant to go to school, (4)

Pt (NI 32
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106 Which one of the fDllL‘l“ri“g is NOT e abid
, J i u

The library should not using the library at the primary level 7

rage space for books, rather

D sm AT hant : 1 Wikt
(2 a read-aloud of the textbook o : m"—:jmg behaviour in the libraries,

Just be seen as a sio
(1) teachers and other adults can also m

learners ca - 3 in a library.
i ch o ‘?’*Pﬂ‘md 0 2 variety Gmm of children’s literature.
(4) as an active environment for engage ith books

~ Which approach/method doesn’t encour
class ?
(1) Direct method

(3) Natural approach

agﬁ@mws to use their native langauge in a language

(2) Q.tdiu—l’mgual method
(4) * Communicative approach

. Which one of the following should be mastered to be literate ?
(1) Decoding and language comprehension.

(2) Accuracy and phonological comprehension.

(3) Phonological awareness and fluency.

(4) Sight vocabulary and pattern recognition.

. To create an inclusive, welcoming and joyful environment that supports every child’s participation
in achieving the competencies outlined in thé National Curriculum Framework (NCF) can be best
done by : I

(1) displaying children’s work from differbAt.Homains of development.

(2) decorating the classroom for a colourfll ehvironment.

(3) conducting indoor activities and avoiding-them from outdoor activities in scorching heat.

(4) majorly focusing on the learners guudi'fézim and well being.

. Which approach/method is geared towards learner’s main goal of using language in a real-life
context 7

(1) Direct method (2) Audio-lingual method
(3) Natural approach (4) Communicative approach

. A student of class V'says, “1 give my work a final check for accuracy before submitting it to the

teacher” The student is working at the writing stage of :

(1) Proof reading (2) Peer-evaluation
(4) Re-drafting

(3) Drafting
i acher wi - i ading corner in her class. In making the judgements
| ;rmde t:hﬂd;;n‘r:bh:gkmji?czhz::;h fgum-..ring questions would be most important to
! g a DO, !
be considered first ?

ird- ding curriculum ?
it U8 wools u‘ae third-grade reading
(1)  Will the books help address the § more than one instructional context ?

- iate for u
[2} Will these books be appmbi;r::s well- rﬂ and rEEPECt’Ed authors of children’s literature 7
(3)  Are the authors of these re.m_ reading level of most students in the class 7

(4)  Are the books written for the indepen D

W i




LM) for ki
3. A teacher 14 Planning to collect a variety of Teaching Learning M“t[f;:.:?n{gTTLh?Is t?r e Clasy
Students, Which one of the following is NOT a correct criterion for choos

ilable, as th
(1) The Material chosen should be preferably.ldcally made or locally ava I8 w

allow for easy replacement. o
] raughnes
(2) The Mmaterial chosen should be made by Léq_%ildmn only and have some roug " Bay

slipperiness.
‘j safe for children of this age group to yg,

(3)  The material chosen should be attracﬁvnlj-;'l .
(4)  The material chosen should provide ade{ﬁf_ e opportunities for the children to explor gl

experiment with curiosity.

114. A teacher in class III asked her learners to aslig" eir partners five questions about their g, il

using the word ‘can’, .8 can you swim ? This type of activity enhances :
(1) Free speaking (2)  Passive listening
(3)  Oral fluency practice (4)  Controlled oral practice

115. Literacy teaching approach that emphasise the relationship between letters and sounds is .
(1) situational approach (2)  phonics instruction
(3)  whole language Approach (4) grammar translation

116. Which one of the following is NOT correct about teaching grammar effectively ?
(1)  Provide practice in communication.
(2) Learn grammar by memorizing its rules, ~J

(3) Promote genuine communication. C}
(4)  Elicit relevant rules of grammar, ~J

117. Which one of the following is NOT the principle for textbook design at the foundational stage ]|
(1) Concrete Principle (2) f‘e:i'ﬁ-mlcgy Principle '
(3) Curriculum Principle (4) Présentation Principle

118. Children in the foundational stage are more egg{éed in learning when :
(1)  they trace or write letters repeatedly in their notebooks,
(2)  they focus only on developing fine motor skills,
(3)  they sing rhymes after the teacher.
(4) they use multiple senses and actively use their hands,

119. Which one of the following statements is NOT correct with respect to the given sentence ?
Sentence : Rhymes, songs and chants are ways for children to :
(1) practise pronunciation. (2) enhance expression and the rhythm of sentences 97,
(3) extend vocabulary, (4)  memorize words and sentence structure.

120. A teacher asked the learners to exchange workbeoks and check their partners work. The object
of this task is to ; - :

(1) give controlled practice of structures. ~J
(2) develop the skill of peer correction, ~J
(3)  give practice in extensjye reading, )
(4) give practice in using new vocabulary, (n
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PART - v
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempéiu&stii;ng from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.
: )

Read the passage given below and answer the questions that follow, (121-128)

Btft the L?nn }vent into the forest and found his own supper and no one ever knew what it was, for
he didn’t mention it. And the scarecrow foun latree full of nuts and filled Dorothy’s basket with them,
so that she would not be hungry for a long time.She thought this was very kind and thoughtful of the
scarecrow, but she laughed heartily at the awkward way in which the poor creature picked up the nuts.
His padded hands were so clumsy and the nuts so small that he dropped almost as many as he put in the
basket. But the scarecrow did not mind how long it took him to fill the basket, for it enabled him to keep
away from the fire, as he feared a spark might get into his straw and burn him up. So he kept a good
distance away from the flames, and only came near to cover Dorothy with dry leaves when she lay
down to sleep. These kept her snug and warm and she slept soundly by until morning,

When it was daylight, the girl bathed her face in a little rippling brook and soon after they all
started toward the Emerald city.

This was to be a wonderful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that lay across the toad and divided the forest as far as they could see on

either side. )
121. Which one of the following statements is true ?

(1) He shelled the nuts for Dorothy. (2).] Nuts mostly grow on bushes.
(3) Scarecrow is not caring. 5'4] _ He knows that the nuts are good for Dorothy.

122. Which one of the following statements :‘q;nqt true ?

(1) He decided to hunt his prey. O

(2) Dorothy felt amused at the way Sﬂ:‘;{fecmw gathered the nuts.
(3) Scarecrow was afraid that the Lion might kill him.
(4) Lion could not eat the nuts gathered by the Scarecrow.

123. Study the following statements :
(a) The Scarecrow gathered nuts as the tree was full of them.
(b) He feared for his life so he got busy in gathering nuts.
(1) Both (a) and (b) are right. (2) Both (a) and (b) are wrong,
(3) (a) is right and (b) is wrong. (4) (b) is right and (a) is wrong,

124. Study the following statements :
(a) Dorothy was obliged to the Scarecrow.
(b) The Scarecrow vanquished his hunger with nuts.
(c) He gathered so many nuts that no one would remain hungry.
(1) (c) and (a) are wrong but (b) is ri
(2) (a) and (b) are right but (c) is wrong. |
(3) (a) and (b) are wrong but (c) is right. |
(4) (b) and (c) are wrong but (a) is l'iq'l.;.N

125. No one ever knew whatitwas . E
The underlined is a/an cla .
(1) Adjective (2) Adverb [~ () Principal (4) Noun
39

TR



Recommenes vt T —

126. They kept her Snug e
The underlined word nearly means the sarfic,ab | fid (4) ~messy
(1) cosy (2)  sordid ~(§) dizzy

127, Which of the following statements is/are lﬁ]‘?'i
(1)  He kepl the Lion away rom Uﬂrﬂth}f\J
) Soth () and (1. ol ket with nuts,
(3)  The Searecrow was kind-hearted as wgd the baske
(4) He helped Dorothy to keep warm at night.

128. ‘... she would not be hungry’.

The underlined word is a Jan : - 0 A e
(1) Conjunction (2) Interjection (3) Preposition (4)

: ; at follow. (129-135)

Read t!m passage given bg-lf:w and arllﬂwer l!'te ‘?““?t!?ni::hat do you think is the most imp%

Usually the first question | ask a newbie birder is, AR
physical requisite to be a birder 2 Your eyes, your ears, }’ﬂil!: nose or g yth most important facy]

Most often, the answer is “eyes”, but several do home ’f‘m what is ; bt i ygu hdat them,tr A
least, according to me ; your ears, Spolting birds in foliage is hard enough, Yor
know they are there, - -

But early the other morning, I realised it wenf thuch beyond that. The ﬁrstb bcl_;d calllj [ hkia.rd |
left the house for my walk was the madcap ringi ugh of black-rumped flame ; : Ea; fEr oW g
the golden-backed wood pecker. It was a wild, exultdnt laugh that set t'he tone an £ood. for, the_eru,
day. And then I realised that every bird call evakeg a different reaction, memory or emotion in
listener, ) _ 4
Indian mynas, for example, invariably re me of people in Delhi-always {eady to argue anf
pick a fight, belligerent and in your face. Yet, taught me not to make sweeping generalisation
because when a pair perch on the window si the afternoons, they have meaningful civilis
conversations with each other. There is inquiry, humour and affection in their voices.

129. “The first bird call I heard asIleft the house .../

The underlined is a/an clause,

(1) Adjective (2)  Adverb (3)  Principal (4) Noun
130. Study the following statements :

(a)  Different chirpings of birds evoke different emotions in g birder,
(b)  Sometimes birds make their nests hidden from public view.

(1) Bc't?u (.?] and (b) are right. (2) Both (a) and (b) are wrong,
() (a) is right and (b) is wrong. (s (b)is right and (a) i wrong,
131. “..... belligerent in your face’ ~ ..
The underlined word nearly means the samas -
(1) musical (2)  different ! st
) hostile 4) noisy
132. “It was a wild exultant laugh,..’ l\_)
The underlined word g a/an n
| Ef =il |
(1) Adverb (2)  Adjective (R N -
o (4)  Verb
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ay  Their shrill shriekin 2ir chirmi

(2) . B €an tell ope ping.

(3) One ‘"fjn easily dish‘nguish lh;ir lhi?l lh“'}' are in danger
) The birds greet each oth Mating calls

BT with : x
who is a birder ? their Moming calls.

(1) one who rears the birds
(1) one who catches the birds () one who hunts the birds

gudy the following statemenys : [ B S WA (R D32

a) The writer approves of the _

E'b; Indian mynas are Hmmaﬂ}.c::::::: gr[::glrl E-:DPP.IE_ 2
() A myna couple can also be fotind iy oisy ;:lu‘ane ,
(1) (a) and () are right but (b) is wrong, g themselves,

(2) (a) and (b) are wrong but (c) is right
(3) (a) and (b) are right but (¢) is wrong,
() () and (c) are right but (a) is wrong,

One of the best way to learn a second language s :

() by repeating and practicing the dialogues as done in the audio-lingual method.

(2) by joining a speaking course for the target language.

(3) being in a classroom where you can focus o the grammar and receive help from a teacher.
(4) by constant contact with native speakers in their own society.

If children hear two languages spoken around them, this exposure will :
(1) not make any difference to the children,

(2) confuse the children, hindering understanding,
(3) put the children at a disadvantage.
(4) put the children at an advantage.

The students learn patterns of language by repeating model sentences that the teacher provides.
They memorise set phrases and receive positive reinforcement from their teacher when they perform
the drills correctly. The teacher is using the :

(1) Total physical response (2) Structural approach

(3) Audio-lingual method (4) Communicative approach | |
This reading has certain learning aims and tasks, learners are supposed to read the text in detail

with concentration and due care, It is called : .
(1) Guided reading (2) FIeasx{re rea:dTng
(3) Extensive reading (4) Intensive re? g
At the beginning of the lesson, a teacher divided the class into groups and asked !;hem tr_-.. talk ?b‘:ut
an iﬁi@resﬁng Eewspaper article that they had just read. This type of speaking activity is for

enhancing : y (2) Active listening. 1
) e ) G e
Children’s cognitive development and language !
(1) development bear no relationship. unity in which children live.
(2) iscl F; Jated to the culture and the comm e arid & prcian ol ionitibion.
(3) R UI:Etefi :E the principle of linking Eﬂ;imulm-mt!::pr the language

0 T \
(4) : :iat an mdiviguﬂl is born with a tool (0712

a1
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Id most importantly focyg on:

> shou
142. To assess reading skills at primary level a language teacher &
(1) reading at a proper speed.
(2)  reading with understanding.
(3) identifying the letters of alphabet.
(4)  use of punctuation mark.
143. Whole language approach is : i '
: 8 _evmbol relationship
(1) Blends sounds (2) []‘LfIEl"S a sound-sym
(3)  Meaning based (@)1l bted d th ut the four pi
- en ictures ;
144, A teacher asked the students of class V to read the story quickly an P P in
order. The purpose of this activity is to A% .
(1) give them practice in reading for specific information.
(2) revise the new and difficult vocabulary of the story.
(3) arrange the picture cards.
(4) give them practice to reading for the gist. .
145. “Language learning is an intensioe process that begins at birth and continues throughtout life.
Do you agree or disagree with the above statement ?
(1) 1 partially agree with the statement.
(2) I partially disagree with the statement.
(3) I agree with this statement.
(4) 1 disagree with this statement.
146. Assessment tools and processes at the foundation stage should be designed in a way that :
(1) learner’s progress is described and analysed with that of the overall class performance,
(2)  a teacher may use common single method to assess the achievement of all the learners,
(3)  explicit tests and examinations become appropriate for learners.
(4)  they become a natural extension of the child's learning experience.
147. Learners are memorising grammar rules and vocabulary and large amount of work is done in their
mother tongue. Which method is being used by the teacher into his language class ?
(1) Ct?mmurljcalive teaching (2) Grammar Translation
(3) Direct method (4) Natural approach
148. Along with print books and audio books the books that engage the tach ilitt I
should be a part of the classroom because - A young cuidier
(1) it makes books more accessible to diverse learners,
(2) .theslt.e books Fﬂ']] not overly burden a teacher.
(3) }t bfmgs variety to the class and children love variety,
(4) | it gives atftonnm}' to teachers to use different books for assessment,
149. t?u]:i c:ﬁie;gem learning to read is finding motivation and good children'’s literature. T 3
: e. Tooverco
(1)  Provide easily accessible Children’s liter
atur i
(2)  School authorities must take learners to b;kt(;al:‘lrﬂhvate and generate interest in reading.
(3) .}Ead:hng books, S lo generate motivation and interest in
eachers should motivate them to read
a bo
(4) Encourage parents to establish a small ]jbra;kat‘:v}i:iiﬂy as homework.
150. A good speaking activity is i :
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INSTRUCTIONS FOR CANDIDATES

This bookletis asupplerent 1o the Main Test Booklet for those candidates
whowish lo answer EITHER Part I/ (Language |) OR Part V {Language
I} In URDU language, bul NOT BOTH,

Candldates are required lo answer Pari | and Part || OR 11l fram the Main
Test Booklet and Paris IV and V from the [anguages chosen by them,

Questlons on English and Hind| languages for Parl IV and Part V hiave
been given in the Main Test Booklet. Language Supplements can be asked
for separately,

Use Black/Blue Ball Point Pen only for writing particulirs on ihis page/
miarking responses in the Answer Sheel

The CODE for this Language Bookletis I Make sure ihat he coDE
printed on Side-2 of the Answer Sheel and on your Maln Test Bockist s the
same as thal on this Language Supplement Tes! Booklet In case of
discrepancy, the candidale should Immediately raport the matler to the
Invigilator for replacement of the Language Supplement Test Booklat

This Tesl Booklet hastwo Parts, |V and V. consisting of 60 Objective Type
Questions, each camylng 1 mark |

Part-IV: Language-| (Urdu) (@ 91 t510,120)
Part-V: Language-il (Urdu) (Q.12110Q.150)
memmaummmhrwgmg&|mpm-vmmaqmms
for Language-Il, In this Test Booklet, only questions peraining lo Urdu
language have been given. In case the language's you have opted for
as Language- andlor Language-ll Is a Language other than Urdy,
please ask for a Test Booklet that contains questions on that
language. The language being answered must tally with the
languages opted for in your Application Form,

Candidates are required to attempt questions in Parl-V
{Language-Il) in a language other than the one chosen as
Language-| (in Part-IV) from the list of languages.

Rough work should be done only in the space provided in the Test Bookiet
for the same,

The answers are o be recorded on the OMR Answer Sheet only, Mark
your TESMTEES carefully. No whilener s allnwad far chanainn anewesre
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1. The manne m whch tha dflerent questions ane 10 be answered has been
Exphaared in the Test Bock it which you should read carsully before acually
arewwing ihe ouestions

Out of the frour sfernatives lor each question, only ona crcle tor the comect
WSWR 15 10 be darkened completety with Blue | Black Ball Point Pen on
Side-2of the OMR Answer Sheet Tha answer once marked is not able
Iy be changesd

The candidaties should ensiine fat tha Argwer Sheel is not foided. Do not
miake any sirgy marks on the Answer Shest Do nol write your Roll No
anywhens eisz excepl in the specified space |n the Answer Shest

Hmmmmwmsmmmmmm
crcumstances (except for discrepancy in Test Bookiet Code of Nurmbes
and Answer Shest Cods or Number), ancther sed will be provided.

The candiciates will write the comect Test Baokiet Code and Number as
given in the Test Booklel/Answer Shest in the Altendance Shest

A machine will read the coded information in the OMR Answer Sheet
Henoe, noinformation shouid be ket incomplste and i should nol be different
from the infarmation given in the Admil Card

Candidates are not aowed to carmy any textual material. printed or wriflen,
bits of papers, pager, mobile phone. slectronic device or any other material
exoep! e Admit Card mside thie axamination fallmom

Mabile phones, wireless communication devices (even in switched off
o) and the oftver banned ikems should not be brought in the examination
hallsrooms. Failing o comply with this instruction, itwill be considerad as
(snig unf=ir means o the examinafion and acton will be taken aganst the
candidale inchuding cancellation of examinalion.

9, Eschcandidate must show on demand hisherAdmit Card 1o the invigéaton

10. Nocandidate, without speaial permission of the Centre Supermiendent or
Invigelstor, should lsave hisher seal,

1. The candidates shouid not lagve the Examination HallRoom without handing
ovef thesr Answer Shest o the invigilatar on duty and sign the Atlentdance
Shesi twice. Caseswhers candidate has not signed the Aliendance Sheet
second time will be deermed niot i have handed over fhe Answer Sheat and
deall with as an unfair means case. The candidates are also required to
put their left hand THUMB impression in the space provided in the
Aftendance Sheel.

12. Use of BlactroniciManual Caloufator is prohibited.

13. Thecandidates are govemed by all Rules and Regulaions of the Examining
Body with regard o thair conduct in thie Examination Hall'Room. All cases
of unfair means will be daait with as per Rules and Regulations of the

14, No partof the Test Bookist and Answer Sheet shall be detached under any
circumstances

15. On completion of the test, the candidate must hand over the Answer
Sheet to the Invigliator in the Hall | Room. The candidates are
allowed to fake away this Test Bookle! with them.




